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COMMERCE AND ACCOUNTANCY

Paper 1

Time : 3 Hours ] [ Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. No credit will be given for the
answers written in a medium other than that specified in the
Admission Ticket. In case of any doubt in the Kannada text,

please refer to English text.

This paper has four parts

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotied to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D.
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PART A o -

Answer eqeh question in abour 50 words. Each question carries 5 marts

1. (a)
{h)

(c)

(d)

What is ‘Shutdown Point’ 7
What are the limitations of Cash flow analysis ?

The Profit-Volume ratio of Ashok Ltd. 18 40 per cent and margin
safety is 30 per cent. You are required to work oyt the break-even
sales and net profit if the sales volume 1s Rs. 1,40,000,

List the methods of segregating semi-variable costs.
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3.

PART B 10x10=100

Answer each question in about 100 words. Each question carries
10 marks.

What are the advantages and limitations of CPP accounting ?
What are the provisions of the Banking Regulation Act, 1949 ?

The net profits of a business, after providing for taxation, for the past five
years are Rs. 80,000, Rs. 85,000, Rs. 92,000, Rs. 1,05,000 and Rs. 1,18,000.
The capital employed in the business is Rs. 8,00,000. The normal rate of
return expected in this type of business is 10%. It is expected that the
company will be able to maintain its super-profit for the next 5 years.
Calculate the value of goodwill on the basis of :

fa) 5 years’ purchase of super-profit method.

(b) Annuity method, taking the present value of annuity of Re. 1 for
five years at 10% as 3-78, and

(c) Capitalisation of super-profit method.

What are the recommendations of the Tandon Study group on Bank
Credit ? :

‘Break-even analysis is a useful device of Profit planning’. — Do you
agree ?

Explain the important provisions of the Income Tax Act, 1965.

In a brass foundry, the standard mixture consists of 60% copper and
40% zinc; the standard loss of production is 30%; and Standard Mixture
and Yield are :

Copper 60 kg. @ Rs. 5 per kg.
Zine 40 kg, @ Rs. 10 per kg.
Standard Yield 70 kg. _
The actual mixtures and yield were .
Copper 80 kg. @ Rs. 450 per kg.
Zince 70 kg. @ Rs. 800 per kg.
Actual Yield 115 kg.
Caleulate Mix Variance, Price Variance and Yield Variance.

L
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10.

(6)

What are the instruments used by the Reserve Bank of India for monetary
control ?

Explain the investment policies of the Unit Trust of India.

Critically examine the Cash Flow Approach of forecasting working capital
needs.
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PART C 6x15=90

Answer each question in about 150 words. Each question carries
15 marks.

1. Prepare the Store Ledger Account for the month of December 2002 from
the following transactions, receipts and supplies of material, on the basis
of :

{a) Simple average price

tb) Weighted average price :

Receipts
Duate Quantity Rate
4 December 2002 200 kg. Rs. 10:00 per kg.
18 December 2002 300 kg. Rs. 12-00 per kg.
22 December 2002 100 kg. Rs. 16-00 per kg.
Issues :
Date Quantity
6 December 2002 100 kg.
20 December 2002 200 kg.
25 December 2002 200 kg.

2. Balance sheets of Z Ltd., and A Ltd., are given below as on December 31,
2002 ;

- ZLtd.  ALtd. |Assets | Z Ltd. ]i—ALtd. |

Rs. _\ _Bs. __Rs. L_R:‘_ !

Liabilities

J— JRR— pm———

Share Capital + 2,00,000 4,00,000!Sundry Assets ‘ 3,10,000‘ 6,00,000
! . i

‘(Rs. 10) | (no goodwill) ‘
Reserves and . 40,000/ 1,00,000'Loan of A Ltd. . 30,000| |
‘Surplus ; '_ ‘ !

i i i i |
'7% Debentures |, 1,00,000 Tnvestments | 50,000/ |
(Rs. 100) ' | (5,000 shares | i |
| i | inALtd) |
: ; | | i ;
Loan from Z Ltd. | 30,000 ! |

Other Liabilities | 50,0001 70,000 ‘,___ R
5 1 3,90,000] 6,00,000!

' 3,90,000 6,00,000
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A Ltd. takes over Z Ltd. on the following terms :

fa) A Ltd. will issue sufficient number of shares at Rs. 11 each and
pay 50 paise cash per share held by members of Z Ltd.

(b} 7% Debentures of Z Ltd, are to be paid at 8% premium by issue of
sufficient number of 8% debentures of A Ltd. at Rs. 90.

Show journal entries and significant ledger accounts in the books of
both the companies. Also, draft the balance sheet of A Ltd. after
absorption,

Determine, from the information below, the value of each class of equity
shares under both Asset Backing Method and Earning Capacity Method :

Hs.
(1) Paid up Share Capital {on 31-12:1999)

30,000 equity shaves of Rs. 10 each fully paid up 3,00,000
23,000 equity shares of Rs. 10. each ; Rs. 6 per

share called and paid up 1,50,000
500, 12% Preference shares of Rs. 100 each fully paid up 50,000
General Reserve A/c 1,19,500
Profit and Loss A/c (Cr.) 80,000

(ii) The preference shares are preferential as to return of capital, but
do not participate in any surplus assets in case the company is
wound up.

(iii) The average annual profits of the company are Rs. 59,200.

{1v) All assets are worth their book-value.

(v} 10% return is considered fair in this type of company.
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(12)

What is the procedure for the appointment of auditors for Limited
Companies ? Explain the status, power, duties and liabilities of an Auditor.

What are the determinants of an optimum dividend policy ? Explain the
optimization models of James Walter and John Linter.

A factory is currently working to 50% capacity and produces 10,000 units.
Estimate the profits of the company when it works to 60% capacity and
80" capacity and offer your critical comments.

At 60% working capacity, raw material cost increases by 2 per cent and
selling price falls by 2 per cent. At 80% working capacity, raw material
cost increases by 5 per cent and selling price falls by & per cent.

At 50% working capacity, the product costs Rs. 180 per unit and is sold
at Rs. 200 per unit,

The unit cost of Rs. 180 is made up as follows :

Rs.
Raw materal 100
Labour 35
Factory Overhead 30 (40% Fixed)
Administration Overhead 20 ( 50% Fixed)

g i R s T T A A N ey e
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PART D 3x30=9
Answer any three of the following questions, each in about 300 words.

Each question carries 30 marks.

1. The following is the audited balance sheet of Shri Ram Chandra as on
31°" March 2003 :

Liabilities Rs. Assets Rs.
Capital account 1,62,000!Machinery 40,000:
Sundry creditors for goods : S0,000éFurniture ; 10,000;
| ‘Stock ' 35,000?
éDebtors | 90,000
‘Cash on hand 6,000
.Cash at bank . Il,OOOé
1,92,000 1,92,000!

- @@ L

A fire occurred on the evening of 318t March, 2004, destroying the
books of accounts and records. The cashier absconded with the available
cash in the cash box.

The trader gives the following information :

{1} Sales are affected as 20% for cash and the balance on credit. His
total sales for the year ended March 31, 2004 were 20% higher
than in the previous year. All the sales and purchases of goods
were evenly spread throughout the year (as also in the previous
year),

{11) Terms of Credit ;: Debtors 2 months

Creditors 1 month

(111} Stock level was maintained at Rs, 35,000 throughout the year.
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(1v)

iv)

(vi)

(vi1)

{viii)

(16)

A steady gross profit rate of 33‘1% on turnover was maintained

throughout. Creditors are paid by cheque only. There are no cash
purchases.

His private records and the bank pass-book kept with him disclosed
the following transactions for the year :

ta)  Miscellaneous business Rs. 1,80,000
expenses (of which {in_cluding Rs. 35,000
Rs. 5,000 was outstanding paid by cheque)
on 318t March, 2004)
(b) Repairs Rs. 2,500 (Paid in
cash)
(¢} Addition to machines Rs. 50,000 (paid by
cheque)
(d) Private drawings Rs. 36,000 (paid in
cash)
(e} Travelling expenses Rs. 12,000 (paid in
cash}

Collections from debtors (including Rs. 30,000 for cash) and
payments to creditors were prompt all along.

Depreciation is to be provided on the fixed assets @ 10% of the
closing book value.

The cash stolen is to be charged to the Profit and Loss Account.

Prepare a statement of source and application of funds for the year
onded 315t March, 2004 (All workings should form part of your
answer).

On 1°' January, 2003, X Ltd. acquired 90% of the stares of Y Ltd. and

80%

of the shares of Z Ltd. With a view to increasing its holding in

Z Ltd.hit disposed of 400 shares in Y Ltd. at a price of Rs. 160 per share
on 30" June, 2003 and on the said date purchased a further 10% of the
shares of Z Ltd. in exchange for the proceeds received on the sale of the
shares of Y Ltd.
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The following are the balance sheets of these three companies ag on
315" December, 2003 in a condensed form :

Assets ¥ Ltd. ¥ Ltd.

Z Ltd.

S Rs. ~ Bs. = Rs
Fixed Assets 1,20,000- 3,80,000 3,40,000
Current Assets 2,27,0000 2,40,000 4,10,000
Loans and Advances 95’000! 25,000 —
[nvestments :
Shares of Y Ltd. 4,40,000 — —
Shares of Z L.td. _4,28_,0002 - -
113,10000]  6,45,000 750,000
Liabilities i :
iShare Capital : : :: : i
Ordinary shares of Rs. 100 each : 7,00,000? 4,00,000’; 2,00,000!
‘Other Liabilities 3,77,000| 1,35,0000 2,00,000;
Profit & Loss (Surplus) account ] 2,_.‘3&0002 },10,9@ _3,50,00&

/13,10,000,  6,45,000 7,560,000

Each of the companies has maintained a consolidated Profit and Loss
(Surplus) account, which shows the following position :

X Ltd. @ YLtd. & ZLtd

Rs. : Rs. : Rs.
éBalance as on 1% January, 2003 i 3,33,000 1,20,000i 2,90,000i
Net Profit for 2003 | 40000 30,000 80,000
| - ' 1
| . 3,73,000| 150,000 3,70,000'
Less Dividends | 1,40,000] 40,0000 20,000

1
2,33,000‘ 1,10,000°  3,50,000
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The investment accounts in the books of X Lid. are carried at cost
except the account representing investment in Y Ltd., which has been
credited with the proceeds of the 400 shares sold. Viz., Rs. 64,000.

You are required to prepare
iy the consolidated balance sheet as on 315t December, 2003; and

(i) the supporting work sheet,

3, ‘The Modigliani-Miller (M-M) hypothesis is based on unrealistic
assumptions’. — Evaluate the relativity of the assumptions made by

M-M.

4. X retires on June 30,2003. He submits the following information :

Basic salary (since January 2003) : Rs. 20,000 per month; dearness
allowance :© Rs. 6,000 per month (1/3 of which is part of salary for
retirement benefits); employer’s contribution towards provident fund :
Rs. 3,000 per month (X makes a matching contribution); interest
credited at the rate of 15 per cent on April 30,2003 : Rs. 7,500; pension
after retirement : Rs. 10,000 per month; and payment of provident fund
at the time of retirement : Rs. 7,60,000 {(out of which employer’s
contribution : Rs. 3,30,000, interest thereon : Rs. 44,000, X’s
contribution : Rs. 3,40,000, interest thereon : Rs. 46,000). Salary and
pension become due on the last day of each month. X has deposited the
entire provident fund payment with a company (rate of interest : Rs. 13
per cent per annum).

Find out the income of X for the assessment year 2004-2005, on the
assumption that the provident fund is

ta) statutory provident fund,

th) recognized provident fund, and

(¢) unrecognized provident fund.

5. ‘The regulatory mechanism of SEBI could not prevent stock market scams.’
— Discuss.
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COMMERCE AND ACCOUNTANCY
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Paper 2

Time : 3 Hours |/ [ Maximum Muarks : 300

INSTRUCTIONS

Each question is printed both in English and in Kannada.

Answers must be written in the medium specified (English or
Kannada) in the Admission Ticket issued to you, which must
be stated clearly on the cover of the answer book in the space
provided for this purpose. Neo credit will be given for the
answers written in a medium other than that specified in the
Admission Ticket. In case of any doubt in the Kannada text,

please refer to English text,

This paper has four parts :

A 200 marks
B 100 marks
C 90 marks
D 90 marks

Marks allotted to each question are indicated in each part.

All questions in Part A, Part B and Part C are compulsory.
Answer any three questions in Part D.
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PART A 4x5=20

Answer each question in about 50 words. Each question carries 5 marks.

1. (a) Explain the psychological approach to Industrial Relations.

(b Under what circumstances is an employee considered not eligible
for bonus under the Payment of Bonus Act, 1965 7

(¢ State the objectives of Personnel Research.
(d) Explain the ‘Ends — Means Chain’.
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PART B 10x10=100

Answer each question in about 100 words. Each question carries
10 marks.

1. ‘Outside leadership is one of the serious problems of the Trade Union
Movement in the country’. — Do you agree ? Explain.

9. What are the functions of International Labour Conference ?

3. Explain the concept, objhectives and areas of Personnel Audit.

4. Explain VROOM’s Expectancy Theory of Motivation.

5. What are the methods of settlement of industrial conflicts ?

6. Explain Matrix Organization Design.

7. What is ‘Informal organization’ ? Explain its benefits and drawbacks.

8, ‘Need for cross-culture communication has been increasing in recent years
in India’. — Do you agree ? Explain.

9. Explain Systems approach to organisation.

10. State the reasons for absenteeism in Public Enterprises.
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PART C 6x15=90

Answer each question in about 150 words. Each question carries
15 marks.

1. Explain the growth and development of the Trade Union Movement in
India.

2. Explain the role of the Conciliator in the settlement of industrial disputes.
8. What are the criticisms against Compulsory Arbitration ?
4. Discuss the traditional and modern theories of Leadership Styles.

5. Explain the concept of ‘Transactional Analysis’. How can it be used for the
betterment of interpersonal relationships 7

6. What are the principles of Organization ?
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PART D 3x30=80

Answer any three of the following questions, each in about 300 words.
Each question carries 30 marks.

1. Explain the process of negotiations during bargaining.

9. What are the causes for the limited success of workers’ participation in
management in India ? Suggest measures to improve its performance.

3. Explain the salient features of the Minimum Wages Act, 1948. How far

has the Act helped the work-force in India ?

4. What are the forces of change in an organization and how can change be
‘ntroduced through a planned process ?

'UI

Critically examine the disinvestment policies of the Government of India.
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